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* 1 irreducible components of dim¢ = 0, with total 77 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(i) Arc colorings

ag =
w3 + 2utt + 50 + 6u” + 6u’ + 4u + u
w30 20"+ 20 +ud 4 u
—ulo—u8—2u6—u4+u2+1)

az =

a7 = \ —y!2 — 210 — 448 — 448 — 3u?

7u2673u24+”.+u2+1
—u?8 — 4y o — 1208+t

u54+7u52+-~-+2u2+1>

a9 = u54+6u52+~-+4u4+u2

ag =
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u™ —4u™ + ... —4u —6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! w4+ w1
c2,Cs u A u e 3u
3 uT w4 —3ut1
€4, C10 WU 4 ut 1
Cg,C12 W43+ 15u+ 3
¢ u™" —9u™® 4 ... — 303u + 29
cg, Cy,C11 w190+ —u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 YTy ey 1
C2,C5 y77—41y76+--~—y—1
c3 YTy 193y — 1
C4,C10 y77+19y76+--~—y—1
C6, C12 YT+ 59y ... — 1401y — 9
cr YT+ 11y"% + - + 15191y — 841
g, C9, C11 y Ty Ty —1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
u = —0.384157 + 0.9166511 —0.08016 — 6.284541 0.+ 10.458931
u = —0.384157 — 0.9166511 —0.08016 + 6.284541 0. —10.458931
u = —0.359432 + 0.9632461 —3.28646 — 6.499211 0
u = —0.359432 — 0.9632461 —3.28646 + 6.499211 0

u= 0.181375 4 0.9547891

—8.18742 + 3.058661

—13.52379 — 3.936611

u = 0.181375 — 0.9547891

—8.18742 — 3.058661

—13.52379 4 3.936611

u = 0.344445 + 0.9690571 —7.25591 + 2.518701 0

u = 0.344445 — 0.9690571 —7.25591 — 2.518701 0

u = 0.151839 + 0.9561501 —7.61091 — 5.678361 —12.50459 + 3.106071
u = 0.151839 — 0.9561501 —7.61091 + 5.678361 —12.50459 — 3.106071
u= 0.364368 4 0.973455] —6.39842 + 11.277701 0

u= 0.364368 — 0.9734551 —6.39842 — 11.277701 0

u= 0.387418 4- 0.8739831 0.51259 + 2.092951 —1.92214 — 3.706731
U 0.387418 — 0.8739831 0.51259 — 2.092951 —1.92214 + 3.706731
u = —0.162879 + 0.9409531 —4.40542 4-1.038141 | —9.57563 + 0.1

u = —0.162879 — 0.9409531 —4.40542 — 1.038141 | —9.57563 4+ 0.1

u = —0.279119 + 0.9079471 —3.80142 — 2.489171 —13.3851 + 5.19831
u = —0.279119 — 0.9079471 —3.80142 + 2.489171 —13.3851 — 5.19831
u = —0.735571 4 0.8782401 —2.84182 + 1.574641 0

u = —0.735571 — 0.8782401 —2.84182 — 1.574641 0

u = —0.529170 4 0.6646121 —3.03277 + 2.048531 —4.86577 + 0.186471

u = —0.529170 — 0.6646121

—3.03277 — 2.048531

—4.86577 — 0.186471

= —0.099359 + 0.8325341

S
|

—1.57015 + 1.627061

—8.90717 — 3.483801

u = —0.099359 — 0.8325341

—1.57015 — 1.627061

—8.90717 + 3.483801

u=0.328773 4 0.7680321

—0.30487 + 1.475901

—2.27756 — 4.799671

u= 0.328773 — 0.7680321

—0.30487 — 1.475901

—2.27756 + 4.799671

u = 0.752498 + 0.8919051 0.60818 + 2.853891 0
u = 0.752498 — 0.8919051 0.60818 — 2.853891 0
u = —0.743580 + 0.9086001 —2.94895 — 7.200201 0
u = —0.743580 — 0.9086001 —2.94895 + 7.200201 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
= 0.829686 4 0.8517671 3.00542 + 0.052931 0
= 0.829686 — 0.8517671 3.00542 — 0.052931 0
= —0.866902 + 0.8226571 0.526126 + 0.4509661 0
= —0.866902 — 0.8226571 0.526126 — 0.4509661 0

= —0.571449 + 0.5587881

—2.66165 — 6.094081

—3.39785 + 6.855041

—0.571449 — 0.5587881

—2.66165 + 6.094081

—3.39785 — 6.855041

= 0.872860 + 0.8283581 4.63295 — 4.303931 0
= 0.872860 — 0.8283581 4.63295 + 4.303931 0
= —0.877082 + 0.8252711 1.61683 + 9.164301 0
= —0.877082 — 0.8252711 1.61683 — 9.164301 0
= 0.871205 + 0.8475461 7.84743 — 3.557561 0

0.871205 — 0.8475461 7.84743 4 3.557561 0
= —0.866793 + 0.8570251 8.30654 — 0.964741 0
= —0.866793 — 0.8570251 8.30654 + 0.964741 0
= —0.853289 + 0.8751111 6.87444 — 2.221391 0
= —0.853289 — 0.8751111 6.87444 + 2.221391 0
= 0.856094 + 0.8894601 4.50479 + 6.651271 0
= 0.856094 — 0.8894601 4.50479 — 6.651271 0
= 0.803005 + 0.9404351 2.73012 + 6.050421 0
= 0.803005 — 0.9404351 2.73012 — 6.050421 0
= —0.829553 + 0.9343851 6.68687 — 4.036431 0
= —0.829553 — 0.9343851 6.68687 + 4.036431 0
= 0.840447 + 0.9246651 4.39202 — 0.351361 0
= 0.840447 — 0.9246651 4.39202 + 0.351361 0

0.501322 + 0.5433451

0.26130 + 1.719031

0.35401 — 4.095361

= 0.501322 — 0.5433451

0.26130 — 1.719031

0.35401 + 4.095361

gie|e(e|e|g|g|g|e|g|g|g|e|g|g|g|e|g|eg|g|g|g|g|g|e|ge|ege|g|ge|:

= —0.828463 + 0.9538231 8.00145 — 5.329921 0
= —0.828463 — 0.9538231 8.00145 + 5.329921 0
= —0.810631 + 0.9736131 0.05425 — 6.685361 0
= —0.810631 — 0.9736131 0.05425 + 6.685361 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
= 0.825978 4 0.9620441 7.48701 4 9.857021 0
= 0.825978 — 0.9620441 7.48701 — 9.857021 0
= 0.816534 + 0.9737471 4.17669 4 10.576101 0
= 0.816534 — 0.9737471 4.17669 — 10.576101 0
= —0.817106 + 0.9775441 1.1384 — 15.45051 0
= —0.817106 — 0.9775441 1.1384 4 15.45051 0

0.623531 + 0.2049931

—4.00857 — 7.707091

—3.80654 + 5.685111

0.623531 — 0.2049931

—4.00857 + 7.707091

—3.80654 — 5.685111

0.530715 + 0.3759561

2.03844 + 1.380091

3.17761 — 3.818481

0.530715 — 0.3759561

2.03844 — 1.380091

3.17761 + 3.818481

—0.555511 + 0.3059621

1.78912 + 2.772471

2.09005 — 4.489391

= —0.555511 — 0.3059621

1.78912 — 2.772471

2.09005 + 4.489391

—0.597425 4 0.2046561

—0.95439 + 3.017431

—0.62538 — 2.659311

—0.597425 — 0.2046561

—0.95439 — 3.017431

—0.62538 + 2.659311

0.599590 + 0.1654611

—4.79659 + 0.875081

—5.38352 — 0.792531

0.599590 — 0.1654611

—4.79659 — 0.875081

—5.38352 + 0.792531

—0.428418

—1.41624

—6.46210




II. u-Polynomials

Crossings u-Polynomials at each crossing
“ w4 w1
c2,C5 T+ 4+ 3u 1
€3 W+ u = 3u+ 1
€4, €10 WU a1l
Cg, C12 W3+ 15u+3
¢ u™ —9u™ + .- — 303u + 29
Cg8,C9,C11 w190 w1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1 YTy oy 1
C2,Cs T4l iy — 1
c3 g7 — T 4 193y — 1
C4, C10 y 19y —y =1
Ce» C12 YT+ 59y + .. — 1401y — 9
cr YT+ 11y + ... 4+ 15191y — 841
Cs, Co, C11 YT Ty — 1




